Wie viele Liter Saft sind im ganzen 25
Kasten? Gib das Ergebnis in | an.

1= 10dl
11= 100cl
11=1000ml

6 Flaschen zu je %I
1 —
6 - 3| = 31

12 Flaschen zu je %I

6l
12 Flaschen zu je 11I 121
20 Flaschen zu je 5| 101
6 Flaschen zu je 0,751 4,5]
12 Flaschen zu je 0,751 9|
3 Flaschen zu je 1,51 45|
10 Flaschen zu je 0,251 251
6 Flaschen zu je 1500 ml 9|
1
4 Flaschen zu je 5| 51
3 Flaschen zu je 200 ml 0,61
24 Flaschen zu je 25l 6l
12 Flaschen zu je 5dI 6l
20 Flaschen zu je 0,331 6.61
6 Flaschen zu je 33l 1,98
20 Flaschen zu je 0,751 151
10 Flaschen zu je 0,51 5
24 Flaschen zu je 8dl 19,21
15 Flaschen zu je 1,51 2251
30 Flaschen zu je 2dl 6l
16 Flaschen zu je 0,41 6,41
20 Flaschen zu je 33cl 6.6|
HohimaBe

I, dl, cl, ml



